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Abstract. In this paper we derived a new method for finding the optimal solution to security assignment
problems using projection onto a convex set. This study will help communities find the optimal number
of assigned and reserved personnels in designating security officers to an area. This study is applicable
as well to CCTV assignment problems. The main goal of this study is to give a new method that
can be applied in solving security assignment problems. We used some of the known properties of the
convex optimization in proving the properties of the optimal solution, such as the concept of proximity
operator, projection onto the convex set, and primal and dual problem. In addition to that, we used
some basic knowledge in graph theory to answer our real-life application of this study. The main
results of this paper showed that we found instances when the optimal solution to a security problem
exists and when the solutions exist, we can determine the answer to the problem explicitly. Also, we
proved that there always exists a Pseudo-solution in security assignment problems, and if the solution
exists, then the Pseudo-solution will coincide with it. The most important aspect of this paper is the

introduction of the application of convex optimization in the security problem.

1. Introduction

There are many optimizations problem in optimization theory such as assignment problems, linear
optimization problems, and convex optimization problems that are applicable in a real-life situation.
For instance, linear programming is applicable in assignment problems [1-3] diet problems [4—6], and

business problems in minimization of cost [7].
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The assignment problem is a problem so that there are n workers and m jobs where m < n. Any
worker can be assigned to perform any job, with some costs that may vary depending on the workers-
job assignment. It is required to perform a job by assigning at most one worker to each job and at
most one job to each worker, in such a way that the total cost of the assignment is minimized. The
assignment problem is a special type of {0, 1}-linear programming [8, 9].

In this paper, we will propose a model and solution to security assignment problems, CCTV assign-
ment problems, and any related problem.

In the security assignment problem, if we let G be the map of the city, E be the major road, V be
the intersection of the major road, w(e) be the criminal rate of the certain major road e € E and 7(e)
be the time needed to travel the road e, then the goal is to assign a percentage of security personnel
T(e) € [a, b] C [0, 1] in any major road e € E such that the crime will minimize. Furthermore, we
want to maximize the reserved personnel that we will assigned to the strategic location of the city.
The crime will minimize in the road e € E if the crime rate w(e) and the percentage of assigned
personnel T(e) to that road has small distance. Thus, the goal is to find 7 : E — [a, b] such that the
crime in G will minimize, that is, T satisfy the following equation

LTSS (wle) = () = Do (wle) — 7(e))” (LD)

ecE ecE
In addition, we want to have a reserved personnel that we will assign to the center of G, = (V, E, )
so that the total percentage of reserved personnel is maximized, and it is at least 1 — s but not more
than 1 — r where r,s € [0,1] and r < s. The quantity r and s are the lower bound and upper bound
for the percentage of assigned personnel, respectively. For instance, if we want to avoid the case that
the total percentage of reserved is at least 20% and it is at most the total percentage of assigned,

then we set r = 0.5 and s = 0.8. This assumption can be formulated as

0§r§27‘(e)§s§1 (1.2)
ecE

and

ry;g]j[ﬁ,b] (1 - eeZE'y(e)> =1- (;ET(e) (1.3)
where Y. T(e) is the percentage of assigned personnel and 1 — Y. 7(e) is the percentage of
reserved personnel. We will assigned the total reserved to the central point u € V of the graph Gy,
that is, the vertex u where the greatest distance dg, (u, v) to other vertices v is minimal. If there are
more than one central points in the graph Gy, then we will divide the number of reserved personnel

to the number of central points. Thus, we will have

1-ecer(e)
T*(V):{ eSES if v e C(Gn) (1.4)

0 if v C(Gr).
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Here, the set C(Gy) is the set of all central points of the graph G, that is, the set of all vertices u
where the greatest distance dg, (u, v) to other vertices v is minimal.
Let G, = (V, E, w) and G,(V, E, ) be a weighted graphs with weight function w : E — [0, 1] and
7 E — R, respectively. Set
Y(E,[a,b],[r,s]):{w E—labl|r<) w( s}
ecE

Summarizing the equation in (1.1) to (1.4), then we will obtain the problem:
Find 7 : E — [a, b] satisying the four condition: . (1.5)

LOSr<y  cp7(e)<s<1

> Y (B aBLirs]) < Z'Y(e ) =1- ZT(G)

eckE ecE
: 2 2
. min wle) —yle = wie)—Tl€e
e @l (6 V(O = 3 (w(e) ~7(€))
1_26 ( ) H
4 () = et if v e C(Gr)
if v ¢ C(Gy)

where r,s,a,b € [0,1] such that a< b and r < s.

The following definition is taken from [14].

Definition 1.1. Let G = (V, E, w) be a weighted graph where V' is the vertex set and E is the edge
set of G. Then, the center of the graph G, denoted by C(G), is the set of all vertices u € VV where

the greatest distance d(u, v) to other vertices v is minimal.
The main objective of this study is to address the problem in definition 1.2.

Definition 1.2. Let G, = (V, E,w) and G, = (V, E, ) be a weighted graph with weight function
w:E —[0,1] and ™ : E — R, respectively. Let r,s,a, b € [0, 1] such that r <s and a < b. Set
Y(E,[a b], [rs]) ={w: E—>[ab]|r<z e) <s}.
ecE
The (r, s, a, b)-security assignment problem of G is a problem of finding (T, T*) where T : E — |[a, b]
and T : V — [0, 1] such that
L r<y cem(e)<s<1

2 'er(E [a b] [r.s]) < B ZW(G)) =1- ZT(G)

eckE ecE
e WO~ = 3 (w(e) (o))’

1-3 ece T(€) ifveC(G
4 7(v) :{ @) v e clGn)
0 ifv ¢ C(Gy)
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where C(Gy) is the center of the graph Gr. The solution to the security assignment problem is the

ordered pair (T, T*).

The paper is organized as follows. In section 2, we proved a necessary and sufficient condition
when the security assignment problem has a solution. Furthermore, we give an explicit formula for
the solution to the security assignment problem in terms of projection onto the convex set if it has
a solution. In section 3, we record some important properties of the pseudo-solution or solution to
the security assignment problem. Finally, in section 4 we discussed the real-life application of security
assignment problems such as security, CCTV assignment problems, and military assignment problems.

In this study, || - || and (-, -) are the standard norm and standard inner product in R", respectively.

2. Existence of Solution to the Security Assignment Problem

First, we recall some terminology in convex analysis. The function f : R" — (—o0, +00] is convex if
and only if

flax+ (1 —a)y) <af(x)+ (1 —a)f(y)
for all x,y € R" and for all a € [0, 1]. We say that f is proper if and only if f # +oco. In this paper,

the function f : R" — (—o0, +0o0] is always convex, continuous and proper function.

The following definition taken from [10, 11] is vital in this paper.

Definition 2.1. Let f : R” — (—o0, +00] be a convex, continuous and proper function and u € R".

The proximity of u in f is the unique point Proxs(u) € R" such that

1
Proxs(u) = arg min <|x —ul]® + f(x)). (2.1)
xeRn \ 2
In particular, if C is closed and convex set and f = tc where tc(x) =0 if x € C and 400, otherwise,
then Proxs(u) = Pc(u) where xg = P¢c(u) is a unique point in C such that infC||x —ul| = |lx0 — ull.
IS
It is well-known that if g = f + || —u|]*> + (.v) + B where @ > 0 and 8 € R, then

Proxg(x) = Prox(q11)-17((a + 1)1 (x + (au — v))) (see Proposition 24.8 of [10]). Consequently, if

a =0, f =1c, then Proxy(x) = Pc(x — v) where C is closed and convex set.

The following lemma solves a minimization problem that can be apply in the security assignment

problem.

Lemma 2.1. Let uy, Uo, ..., upb € R and let r,s,a, b € [0, 1] such that r < s and a < b. Consider the

problem:

ML, (I_i(“’ =)+ i”) (2.2)
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subject to
1.a<x<b

n
2. rSZx,—gs
i=1

n

IfC ={(x1,x,..., Xp) ca<xi<band0 <r< ZX,’ < s < 1} is nonempty, then the problem
i=1

above has exactly one solution. Furthermore, Pc(u — %v) = (X x5, ..., X») Is the solution to the

problem in (2.2).

Proof. Let x = (x1, X2, . . ., Xp), u € (u1, uo, ..., up)andv =(1,1,1,..., 1). Letx* = (x{, %3, ..., X7)
be the solution to the problem in (2.2). Set

n
C:{(Xl,XQ ..... x,,):agx,-gbandogrgZx,-gsgl}. (2.3)
i=1
Then, the problem in (2.2) can be written as
min  2/1x — ulP + =0, v) + 1e(x) (2.4)
—||x — —(x, x) |. :
xeRn \ 2 2 <
n
Since C = [a,b]" N {(x1, x2, ..., Xp) 0 <r< Zx,- < s <1} is the intersection of two closed and

i=1
convex sets, then C is closed and convex. Therefore, the definition 2.1 guaranty that the problem in

(22) has a unique solution
FI’OXg u argxemn 5 X u + (X, 2V + Lc(X .

where g(x) = %(x, v) + tc(x). Furthermore, applying proposition 24.8 of [10] by setting @ = 0 and

f = tc, then we have

1 1
Proxg(u) = Prox,,. (u - 2v> = Pc<u — 2v)

as desired. N

The following theorem gives an explicit form of the solution to the security assignment problem in

terms of projection onto a convex set if it is existing.

Theorem 2.1. The (r,s, a, b)-security assignment problem of G has at most one solution
(1.7*).  Furthermore, if it has a solution (T,7*), then (&) = (Pp(u — 3v),u;) where uj =
(0,0,0,..., 0,1,0,..., 0) is the vector where the ith coordinate is 1, and 0 elsewhere where
ie{1,2,..., |E|} and

|E|
D = {(Xl,x2, .. XE|) € RIEI - 0 < x;<landr< ZX,’ < s}. (2.6)
i=1
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Proof. If the (r, s, a, b)-security assignment problem of G has a solution (7,7*) and (vy,v*), then
(T(e1). 7(e2), ... T(eg))) and (v(e1),¥(e2). ....¥(eg|)) are the solution to the problem
|E| IE|

min “ <Z(W(€,‘) —x/)z—l—Zx,-) (2.7)
i=1 i=1

X1,X2,.00y XE| c

subject to
1. a < Xi < b
2. r< 2151 xi <s

Applying lemma 2.1, then (7(e1), T(&2), ..., T(eig))) = (v(e1),¥(e2). ....¥(eg|)). and therefore, T = 7y
and 7% = «*. Furthermore, if the solution (7, 7*) to the security assignment problem exists, then
lemma 2.1 implies that (7(e1), 7(e2), ..., T(eg))) = Pp(u—3v) where u = (w(e1), w(e), ..., w(eg)))
and v = (1,1,1,..,1). Thus, for all i = 1,2,...,|E|, we obtain 7(e) = (Pp(u— 4v), u), as
desired. O

Lemma 2.1 gives the following definition.

Definition 2.2. Suppose D = {(x1, X2, ..., Xjv|) € RE0<x <land0<r< EEI xi <s< 1} #
¢. The pseudo-solution of the (r, s, a, b)-security assignment problem of G is the unique ordered pair
(6,6%) where 6 . E — [a, b] and 6* : V — [0, 1] such that

1.0 r<y cpble) <s< 1.

2. 7eY(ET;g],[r,s]) <;(W(e) —v(e))* + Z'y(e)>: S (wle) —6(e))> + > 6(e).

ecE ecE ecE
1-Socpble)
3 6°(v) = (™) ifve C(Gr)
0 ifv ¢ C(Gy)

The vector solution to the (r,s,a,b)-security assignment problem is the vector
(8(e1).0(e2), - - ., 0(ee)))-

Remark 2.1. If the (r,s, a, b)-security assignment problem of G has a solution (T,T*), then it is

unique, and its solution is its pseudo-solution (6, 6*).

Corollary 2.1. Let (6,0%) be the pseudo-solution of (r,s, a, b)-security assignment problem of G.
Then, the (r, s, a, b)-security assignment problem of G has a solution if and only if

1. max 1-— v(e >:1— f(e
< > oo

2 Z(W(e) v(€)* = (w(e) —6(e))*.

YeY(Eabllrs)) =

Example 2.1: Given the crime rate and distance of the road ¢ where i = 1,2,3, ...,8 in the graph G
below (see figure 2.1), determine the percentage of the number of assigned personnel for each road so

that the crime will minimize. Furthermore, we want that the total percentage of assigned personnel is
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at most 90% and at least 85%, while the percentage of assigned personnel for each road is at most

25% and at least 5%.
2 km/T
10%

3 km 10%
5 km 15%
3 km
25%
e

10%

Figure 2.1: The Graph G

Solution: We want to solve the (0.85,0.9,0.05,0.25)— security assignment problem, that is, we
want to find 7 : E — [0.05, 0.25] satisfying the four condition:
1.085< ) cpT(e) <0901

2. 1-—- =1—
’YEY(E,[O.OSr,Tg).a2>§f>],[O.85,O a]) ( Z 'y(e)> Z 7(e)

ecE ecE
- _ 2 _ B 2
' ’yGY(E,[0.05r,2.|95],[0.85,0.9]) e;(w(e) () ;(w(e) 7(€))

I_ZeeET(e) H
4 () = —icteor if v e C(Gr)

0 if v ¢ C(Gr)
where m(e;) is the length of the road e; (in km). Let x; = 7(¢&;). Then, from lemma 2.1 and theorem
2.1, (x1, %2, X3..., xg) Is the solution to the minimization problem:

8 8
. 2
min w(e) — xj)° + X;
X1,X2 XgeR (E( ( I) I) ; I)

subject to

1. 0.05 <x; <£0.25

2.085< 3% x, <009

Applying Lagrange  Multiplier  using MATLAB, then we obtain the solution
(x1, X2, X3, X4, X5, X5, X7, Xg) =~ (0.135, 0.08, 0.08, 0.08, 0.23, 0.05, 0.135, 0.06). Thus, the
total percentage of assigned security personnel is x; + x> + ... + xg = 85% and the total percentage of
reserved personnel is 15%. The following table discussed the optimal percentage of assigned security

personnel for each road.
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Table 2.1: Percentage of Assigned Number of Personnel per Road

Road | Crime Rate | Percentage of assigned number of Personnel
el 15% 13.5%
€ 10% 8%
e 10% 8%
e 10% 8%
es 25% 23%
€6 7% 5%
er 15% 13.5%
es 8% 6%

We assigned 15% of the total security personnel to the center of the graph G, where the center of

G is the intersection of the road es, eg and e7.

3. Properties of the Pseudo-Solution

In this section, we record some important properties of the pseudo-solution that can be help

in solving the security assignment problem. In this section, v = (w(e1), w(ez), ..., w(eg|)), v =

[E|

D:{(xl,xz ..... X|E|)6RE:ng,-glandogrgz:x,-gsgl}. (3.1)
i=1

Theorem 3.1. Suppose D # ¢. The pseudo-solution (6,60*) to the (r,s, a, b)-security assignment

problem is a solution to the minimization problem: Find 6 : E — [a, b] such that

veY(E,[a',r}a],[r,sDZ(W(e) v(e) +0.5)° =Y (w(e) — 6(e) +0.5) (3.2)
ecE ecE
subject to
0<r<) f(e)<s<L. (3.3)
ecE
Thus, if (x1, X2, ..., X|g|) is the solution to the minimization problem, then we have
|E| ||
min w(e) —yi +0.5)72% =Y (w(e)— x +0.5)? 3.4
YLYQ,---J/HER;( ( I) Yi ) ;( ( /> I ) ( )
and
1.a<x;<b

2. Ogrgzlii'lx,'gsgl.
Proof. By lemma 2.1, xg is a solution to the problem

Xrg{i{pﬂ <;||x —ul]? + (x, %(1, 1,1,..,1)+ LD(X)> (3.5)

if and only if Pp(u — %v) = xp if and only if
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inflx—(u—iv)2—f><—(u—1v)2 (3.6)
x€D 2 2 2" 27| '
Thus, xo = (6(e1),6(e2), ..., 6(eg)) if and only if
. 2 2
min w(e) —vy(e)+0.5)" = w(e) —0(e) +0.5 3.7
e @y 2o (46 =€) +09)° =3 (wle) - 0(e) +05) (37)
subject to
0<r<) fle)<s<l. (3.8)
ecE
as desired. O

The projection theorem state that xp = P¢c(x) if and only if xo € C and (p — y, p — x) < 0 for all
y € C (See theorem 3.16 in [10]). Thus, the following corollary directly holds.

Corollary 3.1. Suppose D # ¢. The point xo € RIEl s the solution to

_ 1 5 1
min {1l 4 (x5 + 1000} (3.9)
if and only if xo € D and for all y € D, we have
1
(xo—y,xo—u+§v> <O0. (3.10)
Proof. The point xp is a solution to
min 1||><—u||2+<x 1v)—i—L (x) (3.11)
xeRIEl | 2 "2 b ’

if and only if Pp(u — 4v) = xo. Thus, the projection theorem implies that Pp(u — 3v) = xo if and

only if xg € D and for all y € D, we have

1
(xo—u+§v,xo—y)§0 (3.12)

as desired. N

The following definition taken from [10] state the notion of Fenchel conjugate and Gateaux-

differentiable of a function which is important in the next result.

Definition 3.1. Let f : R" — (—o0, +o0] be a convex, continuous and proper function. The Fenchel
conjugate f* of f is a function defined by
f* = sup ({x,-) — f(x)).
x€R"
Definition 3.2. Let f : R” — (—o0, +o0] be a convex, continuous and proper function. The function

f is said to be Gateaux differentiable at xq if and only if the limit below exists for all u € R".
1
D,f(xo) = lim —(f(xo+ au)+ f(xp)).
a—0t &

The function D : R" — R : u+— D,f(xp) is called the Gateaux derivative of f. The Gateaux gradient
of f is the unique vector <7 f(x) satisfying the equation D,f(x) = (u, 7 f(x)).
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The next results give a characterization of the pseudo-solution in terms of the solution to the dual

problem of the primal problem

i {;HX— ul? + (x, %v> +LD(X)}. (3.13)

Theorem 3.2. Suppose D # ¢. Let xo = (7(e1), 7(€2), ..., T(eg|)) be the vector solution to the

(r, s, a, b)-security assignment problem, let u = (w(ey), w(ez), ..., w(eg))) andv =(1,1,1,..., 1).
Then, the problem
_ 1 1
min {317 = v+ su .y~ 50 (3.14)
XER‘E‘ 2 xED 2
1
has a unique solution u — xg. In addition, Prox,(u) = xg where h(y) = sup(x,y — §v>.
xeD
Proof. Consider the primal problem
min l||><— 12 + (x lv>+L (x) (3.15)
xeRIEl | 2 Y "2 b ' ’

Then, xo is the solution to the primal problem above. Let f(x) = 3[[x—u||? and g(x) = (x, 2v)+¢p(x).
Then, f*(a) = 3|/al[> + (a, u) and
1 1
g7 (a) = sup {{(x,a—5v) —ip(x)} = sup(x,a— Sv). (3.16)
xERIEI 2 xeD 2
Thus, the dual problem of the primal problem in (3.15) is
(1. 1
min S =||y||c + (v, u) + sup{x,y — =v) ¢. (3.17)
xeRIEl | 2 XED 2
Since y is the solution to the dual problem, xg is the solution to the primal problem and f* is Gateaux
differentiable everywhere, then by proposition 19.4 of [10], xo = s7f*(—y), and thus, xg = Vf*(—y) =
—y 4+ u, as desired. [l

4. Some Real-Life Application

In this section, we present some real-life application of security assignment problem.
a. Security Assignment Problem for a Road

Let G represent the whole map of a city, E be the set of all roads (or major roads) of the city, V
be the set of the intersection of roads. Let w(e) be the criminal rate (or population rate, number of
houses, etc.) of the road e € E and 7(e) be the time needed to travel the road e (or length of the
road, the volume of a vehicle in the road, etc.). Then, the (r, s, a, b)-security assignment problem is
a problem of finding the percentage of security personnel 7(e) that will assign in road e and finding
the percentage of number of reserved security personnel 7%(e) that will assign to the center of the
city C(Gy) so that the total percentage of reserved security personnel is at most 1 — r and at least

1—swherer,s€[0,1] and r < s. We want to find 7 : E — [a, b] where a, b € [0, 1] and a < b such
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that if we assign 1007(e) percent of security personnel to road e, for all e € E, then the crime will
minimize, that is, we want to solve the problem of finding 7 : E — [a, b] such that

min Z(W e) —v(e)? =) (w(e) —7(e)). (4.1)

Y (E,[a,b],
YEY(E.[2.b] ecE

In addition to that, we want to maximize the total percentage of reserved security personnel, that is,
we have

’YGY(E [a b] r.s]) ( Z’y ) =1- Z T(e)' (42)

ecE ecE
Since the total percentage of reserved security personnel is at-most 1 — r and at least 1 — s where

r,s €[0,1] and r < s, then we have

0<r<> 7(e)<s<L (4.3)

Summarizing equation (4.1) to (4.3), then we recover the problem in definition 1.2.
Note that the security assignment problem can be applied in assigning security personnel for
the checkpoint or any related problem. If the (r,s, a, b)-security assignment problem has no so-

lution, then the strategic solution is the pseudo-solution of the (r, s, a, b)-security assignment problem.
b. CCTV Assignment Problem for a Road

Let G represent the whole map of a certain town, E be the set of all roads (or major roads) of the
town, V' be the set of the intersection of roads. Let w(e) be the criminal rate (or population rate,
number of houses, etc.) of the road e € E and m(e) be the length the road e (or population, number
of establishments, the volume of vehicle in the road, etc.). Then, the (r, s, a, b)-security assignment
problem for CCTV installation is a problem of finding the percentage of number of CCTV 7(e) € [a, b]
that will install in road e and finding the percentage of number of CCTV 7*(e) that will install to
the center of the city C(Gy) so that the total percentage of CCTV that will assign to the center of
the city C(G) is at-most 1 — r and at least 1 — s where r,s € [0,1] and r < s. We want to find
T : E — [a, b] where a, b € [0, 1] and a < b such that if we install 1007(e) percent of CCTV to road
e, for all e € E, then this is the best strategic installation, that is, we want to solve the problem of
finding 7 : E — [a, b] such that

min Z(W(e) (€)=Y (w(e) - 7(e))*. (4.4)

Y(E.[a,b],
YEY(E [a.b] o=

In addition to that, we want to maximize the total percentage of CCTV that will assign to the center

of the city C(Gy), that is, we have

’YGY(E [a b] r.s]) ( Z’y ) =1- Z T(E). (45)

ecE ecE
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Since the total percentage of CCTV that will assign to the center of the city C(G) is at most 1 — r
and at least 1 — s where r, s € [0, 1] and r < s, then we have
0<r<> 7(e)<s<L (4.6)
e€E
Summarizing the equation (4.4) to (4.6), then we obtain the problem in definition 1.2. If the
(r, s, a, b)-security assignment problem has no solution, then the strategic solution is the pseudo-

solution of (r, s, a, b)-security assignment problem.
c. Security Assignment Problem for a Planar Map

Before we discuss the application of this study in planar graph, we recall first the definition of line

graph L(G) of a graph G and planar graph.

Definition 4.1. Let G be a graph. The line graph L(G) of G is a graph such that each vertex of L(G)
represents an edge of G and two vertices of L(G) are adjacent if and only if their corresponding edges

share a common endpoint in G.

Definition 4.2. Let H be a map with region Uy, Us, ..., U,. The planar graph of H is the graph G
where the vertex of G represent the region of H and two vertices in G are adjacent if and only if their

corresponding region are adjacent.

Consider the map with regions Uy, Uo, .. ., U, and let G = (V, E) be a planar graph of the map

where V = {ug, o, ..., un}. Let w(U;) be the criminal rate (or population rate, number of houses,
etc.) of the region U;. Let L(G) = (L(V), L(E)) be the line graph of G and set w : L(E) — [0, 1]
such that w(u;;, ujx) = (é‘e(éjil)l) where
2
deguj\ deg u;! _ deguj(degu; — 1) (4.7)
2 ) (deguj! —2)2! 2 ' '

Set m = 7. The (r,s, a, b)-security assignment problem is a problem of finding the percentage of
number of security personnel 7(e) that will assign in the edge e and finding the percentage of number
of reserved security personnel 7*(e) that will assign to the center of the graph L(G) so that the total
percentage of reserved security personnel is at most 1 — r and at least 1 — s where r,s € [0, 1] and
r <s. We want to find 7 : E — [a, b] such that if we assign 1007 (e) percent of security personnel
to edge e, for all e € L(E), then the crime will minimize, that is, we want to solve the problem of
finding 7 : E — [0, 1] such that

D w(e)—v(e)’ = Y (wle)—7(e)). (4.8)

min
YEY(L(E).[a,b].[r.5]) ecL(E) eclL(E)

In addition to that, we want to maximize the total percentage of reserved security personnel, that is,

we have
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WEY(L(!r:p)?[;(,b],[r,s]) <1 - Z fY(G)) =1- Z 7(e). (4.9)

ecL(E) ecL(E)
Since the total percentage of reserved security personnel is at most 1 — r and at least 1 — s where
r,s €[0,1] and r < s, then we have
0<r< > 7(e)<s<L (4.10)
eel(E)
The percentage of assigned security personnel in region U; is
Z T(U,'J'U,‘yk). (4.11)

jev2 .|V
Ujjujx € L(E)

If the (r, s, a, b)-security assignment problem has no solution, then the strategic solution is the

pseudo-solution of (r, s, a, b)-security assignment problem.

Example 4.1: Consider the map below, which shows the crime rate of each region. We need to
determine the best strategic assignment of security personnel from region 1 to region 5 in order to
minimize crime. However, we must ensure that we assign a maximum of 30% of security personnel
for each e € L(G). Additionally, we want to ensure that the reserve security personnel make up at

least 5%.

Figure 4.1 The Planar Region

Constructing the planar graph G of the map, then we obtain

Figure 4.2: The Planar Graph and Planar Region

By constructing the line graph of the planar graph G, then we obtain L(G)
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Figure 4.3: The Line Graph and Planar Graph

Set w: L(E) — [0, 1] such that w(u; ju;x) = wU) _ \yhere w(U;) is the crime rate of region U; and

deg u;
("3)
deg u; _ deg u;! _ deg uj(deg u; — 1). (4.12)
2 (deg u;! —2)2! 2
Thus, we obtain
20% 1
w(uiotna) = w(uiptrs) = w(uialrs) = =—
3 15
15% 1
w(u2,4u12) = w(l,4t3) = w(U12U23) = 3 2 = 15
( )= 10% 1
W l23U34) = 1 10

w(uatn,4) = w(u24u34) = w(Uz 4Uss) = w(ui4Us5)

( ) ( ) 40% 1
= w(up,4Us5) = w(UiaU34) = =
2,4U45 1,4U3,4 6 15
Wi sune) — 5% _ 3
15las) = —— = 55
L2 3
3
uy, 20 Us,5
Figure 4.4: Weighted Line Graph
The problem wants to solve the (r,s, a, b)-security assignment problem of L(G) where r = 0,

s=0.95 a=0and b=0.3. The (0,0.95,0, 0.3)-security assignment problem of L(G) is a problem
of finding 7 : L(E) — [0, 0.3] such that

1. min Z (W(e)—'y(e))2: Z (W(e)—T(e))z.

v:L(E)—[0,0.3] ecL(E) eclL(E)
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2. max (1 — Z ’Y(e)) =1- Z 7(e).
v:L(E)—[0,0.3] ecL(E) eelL(E)
3.0<r<Yeeiple)<s<l.

From theorem 3.1, we can obtain the vector solution of the (r,s, a, b)-security assignment problem
of L(G) by finding the solution (xj, x3, ..., xi,) of the problem

14 2
min (Z(x,— —w(e) — 0.5) (4.13)
=1

X1,X2,. .. ,X14€ER

subject to
2. 0< Y IHEN L <095

Thus, we have
(o 5) (o3 ) (o3 (- 3)
X1,%,. . . x14€R 30 30 30 20 20
+<x6 — 11)2 + <X — 3>2 + <x — 17>2+ <X — 17>2 + <X10 — 17>2 + <x11 - 17)
20 5 30 30 30 30
oo ) s (o) o))
30 30 20

subject to
2. 0< Y IHENy <095

Applying Lagrange multiplier, then we obtain the approximate solution (0.0631, 0.0631, 0.0631,
0.0464, 0.0464, 0.0464, 0.0964, 0.0631, 0.0631, 0.0631, 0.0631, 0.0631, 0.0631, 0.1464). Thus,
we have the following:

Percentage of Assigned Number of Personnel per Region

Table 5.1: Region | Crime Rate Percentage of assigned number of Personnel
1 20% 0.0631 + 0.0631 + 0.0631 = 0.1893 (18.93%)
2 15% 0.0464 + 0.0464, +0.0464 = 0.13.92 (13.92%)
3 10% 0.0964 (9.64%)
4 40% 0.0631 + 0.0631 + 0.0631 + 0.0631 4 0.0631 + 0.0631 = 0.3786(37.86%)
5 15% 0.1464 (14.64%)

Therefore, by considering the graph and weight of the region, the optimal percentage of total assigned

security personnel is 95% and the percentage of reserved security personnel is 5%.

5. Conclusions

This study proved that the (r,s, a, b)-security assignment problem of G has at most one so-

lution (7,7*). Furthermore, if it has a solution (7,7*), then 7(¢)) = (Pp(u — %v),u,) where
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= (0,0,0,...,0,1,0,...,0) is the vector where the ith coordinate is 1, and O elsewhere where
ie{l,2,...,]E|} and
|E]
D= {(X]_,XQ, . Xg|) € RIE.0<x <1land0 <r< Zx,- <s< 1}
i=1
In addition, we proved that if (6, 6*) is the pseudo-solution of (r, s, a, b)-security assignment problem

of G, then the (r, s, a, b)-security assignment problem of G has a solution if and only if

1. max — =1- O(e
YEY(E [a.b], [r51)< ny > Z (&)

ecE ecE
.’er(E[ab] [rs])z( w(e) —y(e))” = %Z;(W(e)—g(e))?

The model is appllcable in security assignment problem and CCTV assignment problem.
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